ELECTROMAGNETICS I SECOND EXAM

Dr. Salih FADIL August 13,2010

#1) Find the current / in the following circuit if the circuit is located in a time varying
magnetic field

a) B=0.05¢td. Whim’ 100
i i R 0.3 e "'ﬁ.{mf:;‘;;ﬁ‘{"""“""“‘"""“""_""““'
b) B =5sin(120 7t —2y)d, mWb/m’

B #

G 3.5 m

#2) Let p, =u, for region 1 ( p210), and g, =3y, for region 2 ( p<10). If
H, =4a,-6d,+73, kA/m, find:

a) ﬁ]
b} the angles H . and H , make with the tangent to the surface p=10m.

#3) A 1 C point charge experiences a force of 10a, —54, —7a. N in a uniform magnetic field
when it moves with a velocity of 4, +2a m/s while it experiences a force of

~4d,—6d,—2a, N at a velocity of 4, —3d, m/s. Calculate the magnetic flux density of the
field.
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